

<p>22</p> <p>Ans: $2\pi x$</p> $y = \frac{x^{-2} + x^{-1}}{x^{-3}}$ $y = \frac{x^{-2}}{x^{-3}} + \frac{x^{-1}}{x^{-3}}$ $y = x + x^2$ $\frac{dy}{dx} = 1 + 2x$	<p>8</p> <p>Ans: $2x + 8$</p> $y = (x - 5)^3$ $y = 1 \cdot x^3(-5)^0 + 3 \cdot x^2(-5)^1 + 3 \cdot x^1(-5)^2 + 1 \cdot x^0(-5)^3$ $y = x^3 - 15x^2 + 75x - 125$ $\frac{dy}{dx} = 3x^2 - 30x + 75$
<p>6</p> <p>Ans: $\frac{1}{2\sqrt{x}} + \frac{1}{3\sqrt[3]{x^2}}$</p> $y = x\sqrt{x} + 8x^{-1}$ $y = x \cdot x^{1/2} + 8x^{-1} = x^{3/2} + 8x^{-1}$ $\frac{dy}{dx} = \frac{3}{2} \cdot x^{1/2} + 8 \cdot (-1)x^{-2}$ $= \frac{3\sqrt{x}}{2} - \frac{8}{x^2}$	<p>20</p> <p>Ans: $\frac{-1}{2\sqrt{x^3}} + \frac{1}{2\sqrt{x}}$</p> $y = kx + b$ $\frac{dy}{dx} = k$
<p>15</p> <p>Ans: $\frac{k}{2\sqrt{x}} + \sqrt{k}$</p> $y = \frac{3x^2 - x - 2}{3x^2}$ $y = \frac{3x^2}{3x^2} - \frac{x}{3x^2} - \frac{2}{3x^2}$ $y = 1 - \frac{1}{3x} - \frac{2}{3x^2}$ $y = 1 - \frac{1}{3}x^{-1} - \frac{2}{3}x^{-2}$ $\frac{dy}{dx} = \frac{1}{3}x^{-2} + \frac{4}{3}x^{-3}$ $\frac{dy}{dx} = \frac{1}{3x^2} + \frac{4}{3x^3}$	<p>13</p> <p>Ans: $1 + \frac{25}{x^2}$</p> $y = x^{\frac{1}{2}} \cdot x^{\frac{2}{3}}$ $y = x^{\frac{1+2}{3}}$ $y = x^{\frac{3+4}{6}}$ $y = x^{\frac{7}{6}}$ $\frac{dy}{dx} = \frac{7}{6}x^{1/6}$
<p>11</p> <p>Ans: $9x^2 + 60x + 75$</p> $y = \frac{1}{x} - \frac{3}{x^2} + 75x$ $y = x^{-1} - 3x^{-2} + 75x$ $\frac{dy}{dx} = -x^{-2} - 3(-2)x^{-3} + 75$ $\frac{dy}{dx} = -\frac{1}{x^2} + \frac{6}{x^3} + 75$	<p>7</p> <p>Ans: $\frac{3\sqrt{x}}{2} - \frac{8}{x^2}$</p> $y = (x + 4)^2$ $y = (x + 4)(x + 4)$ $y = x^2 + 8x + 16$ $\frac{dy}{dx} = 2x + 8$